0000 1100 00 (0 50)

oo ogooor

19990 50 270

[5-Q1l] 100000000

Potential

_J 0 (z <0),
V(m)_{vwo (x> 0).

O,z=—0c0c 0000000 FODDOOODODOOOODOODOO.

1.000000 Ww<EOOO,O0O0OOO,00000000.
Hint. 0000, 00000000000000.
2.000000 0<E<VWOooo,0o0o0o,0boooooo.

[5-Q2] 100000000

(1)

1000 potential 000,z =—co 000000000 0O00O0DOO

OmOOO0OO0OOOOOODO:

0 (¢<0:00 )
Vig)=¢ >0 (0<z<a:001I) .
0 (z >a:00 III)

(2)

ooooo £>w0O00 0<E<VyOOoooooo,booo4aon
obO.00b000oboo0ooO00b0oob,0obooboooobooooooon

oo rp00O0O0.
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1

gboobooooobooo,booooooooboboooa.
000000000000 0U0oo¥w(z)0,0000000000O.

e Hamiltonian 0 00000 O0O.

ez — —co 000000, 0000 k> 0 0wy(z) ~ Aexplika] +
Bexp[—ikz] 000 (000, Aexpltkz] 0 000, Bexp[—ike] O O
ooooo).

ez —» +oo 0ODOODOO,0000 k> 00v%(x) ~ Cexplika] O
00 (000000000, OOooooOo0oooOoOoOooooOoo,
Dexp[—ikz] 00000D0DD0).

1. Hamiltonian H = p?/2m+V(z) 0000 E0OODODOOODOOO (O
0LILNIOOO000O0).
Hint. OOODODOOOO,0000000D00D0DOOOOO.
2.00,0<E<Vy000ooobo.boo IIo c0obooobo
0 Ym(z) =Ce** (k>0)000000,000000000 110
gooooo.
Hint. =0, 00000000000O0000C00OOODO.
judbobob noooboboboboooIoooooo.
4. 0000000
j(m,t):% \Il(x,t);—x\ll(x,t)*—\I/(:U,t)*(%\ll(x,t) (3)

0o0o00ooobooboo. 00 e —»+xcc 00, 000,000,000
0@00)0D000000 ji(z = —),j.(r = —0), ji(x = +00)
oooo,0000 R, OD0O0O TO

(e = =0)| . _ |l = +00)

AT P Ll T prp—T @
Ooo0o0dd. ooooood. ooodg R+T=1000000
ggog.

5. 0000000 DDODLODDO, bo0bbbuoboboooobo
OO FrEFO0O000O.

[5-Q3] 100000000

Potential O
V() = Voad(x) (5)



uboboa,oboobo,oo0ooooog.

Hint. c=0000000,000000000,10000000.000
000000, Schrodinger 0000000, (—e,+¢) 000000
oo.

[-Q4) 0DOO0O,00000000

10 00 Potential

0 (|z] > a > 0),
Vi) = (6)
{V(x)?éO (2] < a).
00o0o0oooOUo0ooo.o0o, Ve Oooooooooooooo,
ooboooooobo,0bobbobbobboob.b00 z<—-e00O
00 Ae* +Be ™ 00 ¢>a 0000 Ce** + De~* 00D (k € R).

1.0000

B . A . S11 Si2 N
(C>_S<D>7 S_(521 522>7SZ]€C (7)

gdoooobooboooa.
200 SO witary 00000 ,0000

S1Sh + 80iSy =1 (i=1,2), SuSi + SSh, =0 8)

ooo.
Hint. 00000 (0000)0000000 [-a,e000.
3.000000000,z=—-cc00000000O0O0O0OO0DOOCOO
O, z=4cc0000000000O0O0OOODODOOOODO. 200
oob0O,0000,00000000000000O00O000.

[5-Q5] 10000000

0000000000, 1000 Hamiltonian B = —2 & 4 v(z) O
0000000000000 000000000.

1.4y (z),1(2) 0,0 00000 EDDO0DO000O000OD. Wronskian
W1, o] (2) := Y1 (x)Y2(2) — Yo(a)Ya(e) 0,2 000000000
ooooo.

2. ¢y(z),¢,(z) 000000000000, Wiy, d)(z)=0000.
3.¢1(z),0»(z) 0 00000000000000.

[5-Q6] 100000000000

1000,000000 V() 00000000 Hamiltonian H =
—Pd V(@) 0000000000 ¢ 0000. 00 ¢() O

2m dz?

gbooboboobboooooooo.

[5-Q7] 0000D00000000O000000
2000000 ¢ (2), ¥o(e) O Hamiltonian H = — 22 & 4 v(2) O,
000 B, #E000000000000000,

| st =0

oo

000. (Hint: 0000)

goodd

[1] 0000,00000 0000 1,2(0000)



